
Think together

1  What is the temperature shown on each 
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a) b) c) d)

2  Where do these people live?

a)  Rav says, “It is 3 degrees
cooler than Aberdeen.”

b)  Sue says, “It is 3 degrees
warmer than Bristol.”

c)  Jon says, “It is warmer
than Penzance but
cooler than London.”
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➜ Practice book 2C p111

3  Simon lives in Oxford.

He has three 
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 .

One is in the sun.

One is in the shade.

One is broken.

Can you work out which is which?

I wonder what a usual 
summer temperature 
is in the UK.

A 0 ˚C 10 ˚C 20 ˚C 30 ˚C 40 ˚C 50 ˚C 60 ˚C 70 ˚C 80 ˚C 90 ˚C 100 ˚C

0 ˚C 10 ˚C 20 ˚C 30 ˚C 40 ˚C 50 ˚C 60 ˚C 70 ˚C 80 ˚C 90 ˚C 100 ˚C
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